o =0 % Q mo i*Ne) =40
by} m o o] by m
53 23 O 23 03 29
> | 3> Mo | 25 My | Tg
33 53 o0 5% | & & o | OO 80
(o)) (o))
w w wW
& & 63634 H O O
637.52 — . 22;1 zéi_
- 636.36 —| | — 34 36
637.96~_ [ 63794 4 635.85\ | _p3p230—| O 634.36 634.36
| 636.20 — | 634.36 —
636.92 635.68 634.55
|
636.62— |~z oo A 635.38— |—635.20— ~ 634.25
637.77 3
636.96 635.727 | 635.20— 634.58
|
—636.41— n
_ | 634.36 —
J 0 0
3—637.03——636.55— © F[—635.79——635.29— © T O 634.65 —— 634.32 —
5 P | 635.31— o
> S o
- 636.68— v n
—636.70 — 635.72 —634.23 —
636.96 i 635,36 634.58
636.62 ~ . | | 634.25
635.33 63361
636.92 635.68 63455 | n s ]
636.58 7 |—638 54— o 635.347 —eas 36 oy 633.71~ | 033737
[ 63655 L 635.16 —
636.59 — :
N =Ne) Ne} = No) o) =40
29 Do 20 Do RO mo
o4 % o4 24 o4 oS,
m > m > E > m > I'LI'I > m >
40O Zz O 40O Zz O -0 z09
oo [e}°] o0 [ee] [e)e} o0
o)) o (o] o)) o
w [V W w w
632.14— ) =3 631.93— < w — 631.90 =
| - 631.79
631.75 >— gg}gg— o 631.51 631.44
632.26 il 631.87 <) | 631.56
—631.75— 631.46 631.37 —
631.96 a 631.57 631.26
632.30 631.91 631.59
| | 631.49 —
o —631.34 —
i o - 631.47 | N
—632.37 ——631.57— o© X —631.98 1 631.42 = X 1—631.66 —— 631.35 —
3 -C> -C>
)| o o
n —631.27 —
| 631.47
632.30 —_|— 831 45 — 631.91—| 63102 63160~ |-630.96
|- 631.38 - 631.02—
631.96 — B 631.57 — Z: 'zz 630.83
632.267 |_g31 08 631.877 |—630.63 — g
o —630.43—_ a0 35| 630.54 "1 630.41
630.30 —
~5||z
552
23|
= 8|2
(LR Q
Zls || o
ISA 1Ko) ©
3lg ||z
sl ||
glS ||=
S
— =
)
o Sl
=1 [ $
=l
= > L'Ne) =40 L'Ne) =40
2 [EA 20 m o 20 m o
N I 3 e RN 8 o RN
I ] =S = m > m> m > m>
ofl| @ c 8 —H4 0 z 0O —H 0 z O
2li~ ||s : oo o0 0O oo
all S P o)) o o o
N ) w (O8] w (O8]
z z i rrana_| O no | nrrns ] O n
- 8 —63183 —63237
= g. 631.38 o 631.47 o
=1l =2 l— 631.52 —
S [ 631.07 630.91 :
Y IR 631.27— 1 |
g 4|2 63077~ | 23, ja| & 630.61 63116
S °© 63111 [ 31.19— 630.95
3 SSEEaZZ F|| 3 o o
sa8s35c 8 S . - 631.23
g Sgmnzes 2| 8(R ®
: §§g§§_§§ il|l@ I':',—631.19——631.28— o—t—L-631.03—{-63124— o -
3 53m N =2 p
5 8323288 2|5 |P —631.31— S - 631.24
8l o||@®%335=0 | |& 5 —631.24 —
a|l 83aamins (|53 " ®
@l §Z2RR RE 2'a || |631.27 631.12
=3 Swg@s m = : :
- v h (gl
all= ur::gugg’(:gg §% 630.94 NS 630.78 | 631:24—
e [|ardazs" o & || |631.24 631.08
=17 [|2R38582 5 21| 63124 A21 94 631.17
= Z2mo Nl = . — —] .
] nrokBe. |5 63119 @ —631.07— @
3 BOROT 0 2o 631.01— 630.84 —
a )>:,)>-kﬁo~rn ® ©
® NBN S, > 22
3 Q20%EBAR T3
b os-hm'?"OT‘A P31}
E] IEE ) 25
sllggs 2 % ||38
olle®|le & ] 28
wllo o N b < O
=8 0 =
= 3 8 o
. w || E
5| v |£]2
2l ~m 2|8
Bz | 20 |3
A
(@]

2€9

o) —
28 mQ
o3 P
<S> Py
m m
—H 0 =z 0
(o)) o O
(o)) (o))
w w
B ()] enn 17 |
—633.43 —
633.43
633.60
633.30
633.64
—633.43 —
n
[an]
&—633.71——633.30
P
o
—633.15 —
633.64 — |
633.30 —
L 632.45 —
633.60 |—632.87 —
i'Ne) =40
39 o
4 4
< > Py
m m
—H 0 =z 0
[eX6©) o O
[e)} (o)}
wW w
o 631.74— <
631.40 o
631.36 art an ]
631.06— | fai A L
| | |631.39
|
n
n
ul
Xr—631.46——631.34 - o——
g - 631.35
| 631.28 —
n
631.49
631.15 U S
631.45— | 630.88
630.83 o
630.61—
i'Ne) =40
89 iigel
sk o Py 5
m > m >
— O Zz O
(e )@ oo
(o)) (o)) (o))
w w W
3 63255— < R
|
631.77 o
630.70
63040 — |—631.15— L
630.73- |—631.13 —
o
Y|
N
&—630.82——631.11— o -
P
e —631.10 —
no
630.90
630.56 a
630.86
630.817 [ 630727
630.82 —

ce9

013rodd
0oavl.iod

¥€9

ON3dY3L
0oav.iod

0€9

632.50
632.84

632.65 —|
63250 |

632.54

632.87

00'0+12

632.87
632.54
632.84

—632.94 —— 632.44 —

— R22 RN —]
-R22 50— !

—632.47 —

—632.41—

e

= 632.00 —

2€9

013rodd
0oav.iod

ce9

ON3dY3L
0oav.iod

0€9

Ana =A

631.34
631.23

—631.64 —

630.93

—631.26— L

631.27

29'21+62

631.42

—631.35——631.31—

— R21 2N —]

—631.33 —

631.07 —

631.09

631.39
631.06

— 631.07 —

= 630.79 =

T
I

ce9

00'0+92

¥€9

00'01+£2

013rodd
0av.ioo

ON3dd3L
0av.ioo

[N
n
©

630.88
630.38

631.53 —

—630.89 —

630.08

630.42

—630.50 —

630.58

— 630.79 —
—630.77 —

—630.76 —

630.25

—630.62 —

630.55
630.66

—630.68 —

630.54 —

0€9

2€9

€8'61+/L2

¥€9

nn'n+22




